	[image: image5.png]cbseﬁguess




	http://www.cbseguess.com/



Sample Paper – 2010

Class – X

Subject – Mathematics  
Roll No ………………

                






M.M : 80

[image: image5.png]
General Instructions:

1. All questions are compulsory.

2. The question  paper consists of 30 questions divided  into four    sections –  A, B, C  and  D. Section  A  contains  10  questions of  1  mark  each, Section  B  is of  5   questions of  2 marks  each, Section  C  is of 10 questions of 3 marks each  and  section  D is  of  5 questions of 6 marks each. 

3. In question on construction, the drawing should be neat and exactly as per the given measurements.
4.  In question on construction, the drawing should be neat and exactly as per the given measurements.

5. Use of calculator is not permitted.  .
SECTION –A

1. Show that any +ve odd integer is of the form 4q + 1 or 4q + 3, where q is some integer.
2. The product of two consecutive integer is 306.Find the integers.
3. The wickets taken by a bowler in cricket matches are as follows : 2, 6, 4, 5, 0, 2, 1, 3, 2 and 3. Find the mode of the data. 

4. One zeros of the quadratic polynomial 2x2 – 8x – k is 5/2. Find the other zeros and the value of k.
5. Determine the A.P whose 3rd term is 5 and the 7th term is 9. 
6. A ladder is placed against a wall such that  its foot is at a distance of 2.5cm from the wall and its top reaches a window 6m above the ground. Find the length of the ladder.
7. Prove that the lengths of the tangents drawn from an external point to a circle are equal.
8. Find the perimeter of a quadrant of a circle whose circumference is 22cm.
9. Diagonals of a trapezium ABCD with AB||CD intersect each other at the point O. If AB = 2CD, find the ratio of the area of triangles AOB and COD.

10. A card is drawn at random from a well shuffled deck of 52 cards. Find the probability that it is neither an ace nor a king. 
SECTION – B
11. Which term of an A.P : 3, 15, 27…………. will be 132 more than its 54th term.
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13. Solve 2x + 3y = 11 and 2x – 4y = - 24 and hence find the value of m for which y= mx + 3.
14. The diagonals of a quadrilateral ABCD intersect each other at the point O such that AO:BO = CO:DO. Show that ABCD is a trapezium.
15. The length of a line segment is 10. If one end is at ( 2, - 3 ) and the abscissa of the second end is 10, show that its ordinate is either 3 or – 9.
SECTION –C

16. Show that 3 – √3 is irrational number. 
17. The sum of the numerator and the denominator of a fraction is 8. If 3 is added to both the numerator and the denominator, the fraction becomes ¾. Find the fraction.
18.  One zero of the quadratic polynomial ax2  + bx + c is three times the other, show that 3b2 = 16ac.
19. Find the area of a triangle, the coordinates of the mid-points of whose sides are ( -1, -2), (6,1) and ( 3,5) respectively.
The best way to destroy an enemy is to make him a friend.

20. Prove the following identity:   
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21. The area of a rectangle gets reduced by 80 sq. units if its length is reduced by 5 units and the breadth is increased by 2 units. If we increase the length by 10 units and decrease the breadth by 5 units, the area is increased by 50 sq. units. Find the length and breadth of the rectangle.
22. If ( -2, -1), ( a, 0), ( 4, b) and ( 1,2 ) are the vertices of a parallelogram, find the value of a and b.
23. In 
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 , right angled at A, if AD  perpendicular to BC and BD=3CD. Prove that 2AB2 =2AC2 +BC2  
24. Draw a circle of radius 3 cm. From a point P 5 cm away from the centre of a circle, construct a pair of tangents to the circle.
25. A brooch is made with silver wire in the form of a circle with diameter 35 mm. The wire is also used in making 5 diameters which divide the circle into 10 equal sectors. Find: 

( i ) the total length of the silver wire required. ( ii ) the area of each sector of the brooch. 
SECTION –D
26. The students of a class are made to stand in rows. If 3 students are extra in a row, there would be 1 row less. If 3 students are less in a row, there would be 2 rows more. Find the number of students in the class.
27. Prove that ratio of areas of two similar triangles is equal to the ratio of square on their corresponding sides. Using this theorem, find out the ratio of heights of two isosceles triangles having equal vertical angle if ratio of their areas is 4 : 25. 
28. A boy is standing on the ground and flying a kite with a string of 150m, at an angle of elevation of 30. Another boy is standing on the roof of a 25m high building and is flying his kite at an elevation of 45. Both the boys are on opposite sides of both kites. Find the length of the string, that the second boy must have so that the two kites meet.

29. A bucket has top and bottom diameter of 40 cm and 20 cm respectively. Find the volume of the bucket if its depth is 12 cm. Also, find the cost of tin sheet used for making the bucket at the rate of Rs 1.20 sq.dm.
30. Find the mean and median of marks from the given distribution table.
	Class Interval
	Number of Students

	0 and above
	120

	20 and above
	108

	40 and above
	90

	60 and above
	75

	80 and above
	50

	100 and above
	24

	120 and above
	9

	140 and above
	0
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